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Manbhar is the person is taking over my job next week.

(A) who (B) what

(O) how (D) which

Kundan couldn’t imagine he would be able to find the courage to fight.
(A) what (B) how

(C) which (D) where

By six o’clock tomorrow, I’ll finished my report.

(A) has (B) been

(O) have (D) may

He doesn’t seem to be here. He out.

(A) must have gone (B) must be going

(C) must go (D) must have been going

The company we are looking for closed down.

(A) might (B) might be

(C) might not (D) may

My parents have been married forty-nine years.

(A) since (B) for

(C) until (D) till

My fingers were injured so my sister had to write the note me.
(A) for (B) with

(©) to (D) from

The baby soundly even when the next door play noisily.
(A) sleep, childs (B) sleeps, children

(O) sleeps, child (D) sleep, children

The winters to get longer and colder every year, whereas the summers

to get shorter and cooler.

(A) seems, appears (B) seems, appear

(C) seem, appears (D) seem, appear

As the movers the heavy sofa up the stairs, they that the stairway is
too narrow.

(A) carries, discovers (B) carry, discovered

(O) carried, discovered (D) carry, discovers
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061. I agree that he has made some bad decisions the past, but he does not want to

own to them.
(A) on, of (B) in, up
(C) with, for (D) against, off
062. We look forward to you at the event.
(A) seeing (B) seen
(C) see (D) meet
063. We were not alone in the room. He sat me. There were others there
us.
(A) be, besides (B) besides, beside
(O) next, between (D) by, besides
064. Tomorrow I (sleep) all day.
(A) will be sleeping (B) will sleep
(C) will have slept (D) will be sleep
065. By the time we reach there, the store (close).
(A) will close (B) will have closed
(O) closed (D) were to close
* Choose the word/phrase that best connects the sentences.

066. We should be doing something about this. We are doing nothing.

(A) Moreover (B) On the contrary
(C) Next (D) Lastly
067. The historical sciences have made us very conscious of our past. Some scholars tend to
study this.
(A) For this reason (B) For no reason
(O) Finally (D) Similarly

068. 1didn’t find any time to study for the exams. I failed badly.
(A) In the same way (B) Instead
(C) Meanwhile (D) Consequently

069. Thecomputer was originally designed for complicated calculations in the 1930s. It became
a part of our lives.

(A) Henceforth (B) Later
(C) Because (D) Albeit
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078.

Most people do not like solitude. Most people do not like to be lonely.
(A) Accordingly (B) In other words
(O) In similar fashion (D) On the other hand

The following sentences have a word which is in underlined. Select a word from the
options which is closest to the opposite meaning of the word in underlined.

She appears to be a very timid person.
(A) reclusive (B) introvert
(O) bold (D) chivalrous

Quite a few people often try to resist reforms in the society.

(A) Repel (B) welcome
(O) challenge (D) fight

He has a delicate constitution.

(A) changeable (B) weak

(O) fragile (D) robust
Ambiguity of thoughts can lead to disaster.

(A) Rigidity (B) confusion
(O) certainty (D) rationality

This is a trivial matter.

(A) difficult (B) easy
(C) small (D) important

Use a phrasal verb closest in meaning to the words given in the brackets.

It’s too cold in here. Shall I (increase the temperature) the heating?

(A) getup (B) turn up

(C) turn on (D) put on

Whatdoes this word mean? I’ll it (find its meaning) in the dictionary.
(A) look, up (B) look, in

(O) look, out (D) look, for

I’ve missed many lessons, so now I'll have to (reach the same level, learn the

same as the others) the other students.
(A) catch up (B) hurry up
(C) learn on (D) catch up with
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079.

080.

081.

082.

083.

084.

08sS.

Choose the correct option.

The teacher asked if to bring our textbooks to class.

(A) all we had remembered (B) we had all remembered

(C) had we all remembered (D) had all we remembered

You should read this novel —it’s been recommended by all the critics.

(A) highly (B) truly

(O) fully (D) deeply

I regret to inform you that your application unsuccessful on this occasion.
(A)is being (B) should have been

(O) to be (D) has been

As soon as the policeman saw the thief, he started running. (Use “Hardly”)
(A) Hardly the policeman saw the thief, he started running.

(B) Hardly did the policeman saw the thief, when he started running.

(C) Hardly did the policeman see the thief, when he started running.

(D) Hardly do the policeman saw the thief, when he started running.

The doctor said to me, “Take the tablet three times a day, after breakfast, lunch and
dinner.”

[Choose the option that makes this sentence from direct to reported speech.]

(A) The doctor told me to take the tablet three times a day, after “breakfast, lunch and
dinner.”

(B) The doctor told me to take the tablet three times a day, after breakfast, lunch and
dinner.

(C) The doctor said me to take this tablet three times a day, after breakfast, lunch and
dinner.

(D) The doctor told me after breakfast, lunch and dinner to take this tablet three times a
day.

He often dithers before approaching strangers. - The word ‘dithers’ means:

(A) loses confidence (B) clears his throat

(C) makes a cheerful face (D) signals with his hands
He often brags about his success. - The word ‘brags’ means:

(A) feels excited (B) boasts

(C) feels insecure (D) tells the truth
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086.  You can choose to go with father with mother. - Choose the correct

pair
(A) if only, but also (B) never, nor
(O) either, or (D) now, how

087. Many slaves yearned throughout their lives for freedom. - The word ‘yearned’ means:

(A) desired (B) worked

(C) saved money (D) searched
088. We warned our neighbors several times about the fire hazard.
Choose the correct passive form of the sentence.
(A) Several times we have warned our neighbors about the fire hazard
(B) Our neighbors were warned several times about the fire hazard by us
(C) We warned about the fire hazard several times our neighbors
(D) Our neighbors warned us several times about the fire hazard
089. The system was supposed to detect traffic density along each road via sensors.
Choose the option that best conveys the meaning of the underlined word in the sentence.
(A) thickness (B) flow
(C) signal (D) width

090. Last year itself, more than 10 personal took retirement.

Choose the correct spelling of the underlined word.

(A) personel (B) person

(C) personnel (D) persona
091.  “The liberty of speaking and writing guards our other liberties.” Thomas Jefferson

Which statement contradicts the above quote?

(A) Freedom of the press is an important right.

(B) People should be free to express their opinions in speech and written words.

(C) Freedom of religion should not be limited.

(D) To protect liberty, governments should stop people from saying unpopular things.
092.  Which quote indicates that cats are thinkers?

(A) “If you would know a man, observe how he treats a cat.” Robert Heinlein

(B) “Cats are mysterious Kkind of folk - there is more passing in their minds than we are
aware of.” Sir Walter Scott

(C) “As every cat owner knows, nobody owns a cat.” Ellen Perry Berkeley

(D) “What greater gift than the love of a cat?” Charles Dickens
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093. “Teaching should be such that what is offered is perceived as a valuable gift and not as a
hard duty.” Albert Einstein

Einstein is saying that
(A) Students learn best when they feel that what they're learning is important to them.
(B) Teachers should offer cash awards to students for doing their homework.
(C) Never make students work hard.
(D) Teachers should wrap their assignments in real wrapping paper.
094.  “This is a court of law, young man, not a court of justice.” Oliver Wendell Holmes, Jr.
Which statement comes closest to the meaning of the above quote?
(A) You entered the wrong building.
(B) Law and order is always a bad thing.
(C) Basketball players never play fair !
(D) Laws aren’t always fair.

095. Spelling becomes a usage issue when dictionaries differ or offer more than one way to
spell a word. Spelling in English is influenced by frequency of occurrence, as well as by
historical precedence. Moreover, decisions made by lexicographers are sure to vary. Which
of the following statements is false?

(A) Sometimes, dictionaries offer more than one way to spell a word.

(B) The variation in spellings is dependent on usage.

(C) Spelling is influenced by frequency of occurrence and historical precedence.
(D) Lexicographers are unanimous in their decisions on spelling.

096. Effective advertisements are those that compress the essentials of the message within the
given time or space in an appealing manner with the help of a combination of words,
charts, pictures, tone and colour.

Which of the following statements does not follow from the passage above?

(A) Advertisements become unappealing with a wrong combination of words, charts,
pictures, tone and colour.

(B) Time and space are important in advertising.
(C) Good messages help develop good advertisements.

(D) Advertisement requires teamwork.
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097. Mahatma Gandhi believed that industrialization was no answer to the problems that
plague India's poor population. He also felt that villagers should be taught to be self-
sufficient in food, weave their own cloth from cotton and eschew the glittering prizes
that the twentieth century so temptingly offers. Those who inherit the reins of political
power do not experience such an idyllic and rural paradise.

The basis of ‘an idyllic and rural paradise’ is -

(A) rapid industrialization of villages

(B) self-sufficiency in food and clothes and simplicity of life-style

(O) bringing to the villages the glittering prizes of the twentieth century
(D) supporting those holding powerful political positions

098. “Make lists”, Dr. Sheridan says. “Many times, people feel fatigued because they think
that they have so much to do they don't know where to start.” By setting priorities and
charting your progress as you move your way through the list, you can remain focused
and energetic.

The central message conveyed by this passage is
(A) people feel tired if they carry a list

(B) do not overwork

(C) tackle one thing at a time for success

(D) you should be energetic to win

099. Books are, by far, the most lasting product of human effort. Time does not destroy the
great thoughts which are as fresh today as when they first passed though the author's
mind. These thoughts speak to us though the printed page. No wonder that the world
keeps its books with great care.

The world keeps its books with care because
(A) they are destroyed by time

(B) they bring great ideas to us

(C) they can change us like bad products
(D) they make us successful

100. Many people find this law to be discriminatory because it seems to give an unfair
advantage to the upper classes in trade and commerce. The government is in favor of
amending the law to make it more appealing to medium and small-scale business people.

The above passage discusses:

(A) trade and commerce

(B) government sponsorship to medium and small businesses
(C) a law that's unfair to the majority

(D) tax benefits to rich people
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101.

102.

103.

104.

105.

106.

107.

100 122 dousl 72 S0l /seus Al 33U ol 2is 2+ L d o [Buniordl 200 Hle: deusl 241 63
Al /seus Al 33U orell ol 2 A YAR SR S24l uHY Al ?

(A) 150 A5 (B) 140 A5+3
(C) 100 A5~ (D) 120 A5~

-

Aa:b=3:4,d (3a+4b): (4a +5b) AHl.

32 25
A) 55 (B) £V
51 21
© o (D) £V

~ ~

(Asiel AL A8 2 WAL i A 40% B2AL ARRAME 24, dl Al AASOHL Adl Y AHIRL 2.
(A) 40% (B) 80%
() 96% (D) 140%

A s 511 10 [Bamui, B d o 511 15 [Bauui 244 € 20 [Bauuiyg 53 6. duil 1 514 a3 52 8.
A 2 [Bau uesl 11 B 4 [Ba uedl s o9l € 69, dl 524 51 udl gl sal ?

(A) 8% (Bt (B) 9% [Baat

(©) 10% Bt (D) 10 [Eax

-

107 &AM HAAdL Adi-l usle s2¢l a9l ?

(A) 5n (B) 2210

©) 10 (D) 107

20E HUS AL HeuR g 2l ?
2,3,9,3,5,7,7,10,7,6

(A)6 B)7

(©) 6.5 (D) 7.5

Ap—q=33p?+q*=29, pqg -l Bud 4

(A)10 ®B) 11

(©) 12 (D) 13
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101.

102.

103.

104.

105.

106.

107

Find the time taken by a train of length 100 m running at a speed of 72 km/hr to cross

another train of length 200 m running in same direction at a speed of 63 km/hr.
(A) 150 seconds (B) 140 seconds
(©) 100 seconds (D) 120 seconds

Ifa:b=3:4, find 3a +4b): (4a + 5b)

32 25
A) 55 (B) £V
51 21
© o (D) eV

Both height and base of a triangle are increased by 40% each. Find the% increase in its
area.

(A) 40% (B) 80%
(C) 96% (D) 140%

A can complete a work in 10 days, B can do the same in 15 days and C can do it in 20
days. After starting work together, A left after 2 days and B left after 4 days. How much
work is left?

2 2
(A) 85 days (B) 95 days

2
©) 103 days (D) 10 days

What is the circumference of a circle whose area is 10w ?

(A) 5 B) 27410

©10 D) 10xn

What is the median of this data:
2,3,9,3,5,7,7,10,7,6

(A)6 B)7

(©) 6.5 D)7.5

If p — g =3 and p? + ¢> =29, find value of pq.

(A) 10 B)11

©) 12 D) 13
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108.

109.

110.

111.

112.

113.

114.

dlu ay A ¢y i 519 anHi 53 AdR 2ud da-l Acua-n sedl a9 ?
A 2 B 1
(A) 5 ®) 5

7 1
© 7y (D) 3

o Wil 25 A1 5 5UHL 20d 89, A1l UR BH-L JRUSIR YOU AvAL(Even number) 20 ddl 6l
vl Hoawl Acua sedl asl ?

A 3 B 1
()4 ()4

C 7 D 1

© 5 D) 5

~ 1 1 1 hY Y Y by N\
%;+;=;Mﬂab=c,ai’:{"lb'ﬂ%RQl-‘alsaC-ﬂ%l«?l?
A)0 B)1

C 1 D 1

© 5 ()

5 -l RsuHl 100% %24l AU SAUUL 29, dl dril Brsn 2 d-l Auél-u aAsnui
Sedl qruRlL 49l ?

(A) 300% 41 200% (B) 800% 41 200%
(C) 700% A1 300% (D) 300% 11 100%

25 oUSR £l i 21 AL 8, 20 g31A Wouddl dmigdl 1 A buog-iL AHAA Ll 2ud 8.
dl 24 {ld Hudg anandl v sed) el ?

(A) 5000 (B) 4800

(C) 4853 (D) 4851

25 AvAL 95555(7)4353 Al vedl (?) vis bl 3 gl d Avar1l ad [deucsu .
(A1 B)5

o7 )3

25 WLl AASIAAML AAAL A, 564420 6. oA d¥H-tl HiiAL (v ARAUML 21d dL A 190 €, dal
du-L vl vt oMl 2d dl d 560 €. dl $64dR) Sedl sl ?

(A)100 (B) 108
©) 110 D) 112
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108.

109.

110.

111.

112.

113.

114.

What is the probability that a non leap year should have 53 Sundays?
A z B 1
) - ®) -

7 1
© 3 (D) )

Two dice are rolled simultaneously. What is the probability of getting two numbers whose
product is even?

o3 .
A) ®)
ol oL
© ™) 5
1 1 1
If;+;=; and ab = ¢, what is the average of a and b?
A)0 B)1
C 1 D 1
© 5 ®)

If the radius of a sphere is increased by 100%, then its volume and surface area will be
increased by

(A) 300% and 200% (B) 800% and 200%
(C) 700% and 300% (D) 300% and 100%

A spherical ball of diameter 21 cm is melted and recast into cubes, each of side 1 cm. the
number of cubes so formed are:

(A) 5000 (B) 4800

(C) 4853 (D) 4851

The missing (?) digit of the number 95555(?)4353, so that it is divisible by 11 is?
A1l B)S5

7 D)3

In a zoo, there are rabbits and pigeons. If their heads are counted, there are 190 and if
their legs are counted there are 560. How many pigeons are there?

(A)100 (B) 108
© 110 D) 112
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115.

116.

117.

118.

119.

120.

121.

A s 0054 AssA BHd wie 9,usfl A 40% 1WA B A dA 9. Ul Bd C A A 9 211 40%
vl v 69, ol C 2 31 4200 d-il HI2 5L 81, dl A 2 d A sa 524l [Bud wdlel sal ?

(A) 3L 4000 (B) 31. 5000

(C) 3L 7000 (D) 31. 9000

s 6l igdl Avar 2isidl recunedl 530 2is AAdl qval oML 20 9. dl d 61 AvAALAL
aslad 59O AvaL a3 (e ¢l ?

(A) 11 B)5

©)9 (D) 13

At =7d '+ A Bua dellud 7

(A)+13 B)+18

©+7J7 (D) +27

A 22 A=Y, 1993 - [BaA AR iy, dl 194l 11,1993 U Bad sul R 8ol ?
(A) Adar B) alar

(C) AHUR (D) Y5

alsw 5y =2 w2, A Qe A xea s :

A ~ by hY 2 b b
(i) v 5y =2 -l 2UAM p-2A2A (0, =) 22N 98 89,

(i) vU Sy =2 U BUAW x-2A8A AHIAR .

(iii) vU Sy =2 -l 20AV p-218 1 AHIdR .

L (Al WA :
(A) $5d (i) A1 8 (B) (i) 21 (ii) A ¢
(C) 5d (iii) Acw 8 (D) 6181 % AL 89,

2ARUS Hi MA@ 75 Jagl 2 9d 2Agsl el 1A UL s, 0%d 241 Yal 2igsHl deia
1810 A5 ?

(A)2:3 (B)12:13

(©)7:8 D)9:11

25 254 UR oflog 1 Al At HAQ A5[B Qo 145H 31 1200 1L 3L 1440 S dl AL €2
Q4.

(A) 18% ld an (B) 25% uld axl

(C) 20% wld anl (D) 24% uld ax
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115.

116.

117.

118.

119.

120.

121.

A buys a bicycle at certain price, then sells it to B at 40% profit. Then B again sells it to
C and incurs 40% loss. If C has paid Rs. 4200 for it, at what price did A buy it?

(A) Rs. 4000 (B) Rs. 5000
(C) Rs. 7000 (D) Rs. 9000

A new number is formed by interchanging the position of digits of two digit number. The
difference of the two numbers must be divisible by:

A1 ®B)5
(OB D) 13

1 1
If x° +— =7, then value of x? t—3is:
X X

(A)+13 B)+18
Ox7./7 (D) £ 27

If 2" January, 1993 is Saturday, then 19" March, 1993 will be
(A) Sunday (B) Saturday

(C) Monday (D) Friday

For equation Sy =2, consider following statements

2
(i) The graph of line Sy =2 cuts y-axis at (0, g)

(ii) The graph of line Sy = 2 is parallel to x-axis

(iii) The graph of line 5y = 2 is parallel to y-axis
Out of these statements :
(A) Only (ii) is true (B) (i) and (ii) are true
(C) Only (iii) is true (D) All are true

Total number of gold medals and silver medals won by India in Olympics is 75. Which of
the following cannot be the ratio of the number of silver medals to that of gold medals?

(A)2:3 B)12:13
©7:8 D9:11

Compound Interest earned on a sum for second and third years are Rs. 1200 and Rs.
1440 respectively. Find the rate of Interest.

(A) 18% per annum (B) 25% per annum
(©) 20% per annum (D) 24% per annum
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122.

123.

124.

125.

126.

127.

128.

129.

222 U 22% U 2% 1A UL s 49 ?

(A)0.9768 (B) 0.2442

(C) 48.84 (D) 0.9898

255 -l Hi2imi Hiel 2lacuosd xauq sul el ?

(A) 85 (B)17

©s1 D)5

Uiz, Add 2Aadl 24324 Qv (odd numbers)l UAL 61 €. dl Al HIAL v 56 ¢ ?
(A) 65 (B)57

(©) 63 (D) 67

20 gLl widl v il

12,17,36,127, 516, .......
(A)17 (B) 36
(C) 127 D) 516

ws AS[As cruni ROBUST 1 QNATRS ddl3 craimi 2id, di 8 Ased ZXCMP da3l3
awaHi 2049l ?

(A) AWDLQ (B)AYDNQ
(C) AYBNO (D) YYBNO

5 G1RUL, A 361 AdH daL AdL il 418 2e0n 69, ol A4 A1 AldL isoellondl A HEQ
dl 2181 31682l YgHL 22 2uadl. dl Aldig g euq el 534 sl ?

(A) aURY, (B) ugRy
(©) 9% (D) WY
QIOK : MMKO: :ZBPC: ?

(A) VFLK (B) VFLG
(©) WFLG (D) VGLG

A “tee see mee” N2 “Drink Fruit Juice” ; “see kee lee” {2d “Juice Is Sweet” ¥ “lee
ree nee” ¥i2d “He Is Intelligent” Si, dl d (UMM “Sweet” HI2 $Ul A0E 89 ?

(A) see (B) lee
(C) kee (D) mee
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122.

123.

124.

125.

126.

127.

128.

129.

Which of the following is equal to 2% of 22% of 222 ?

(A)0.9768 (B) 0.2442

(C) 48.84 (D) 0.9898

What is the largest prime factor of 255?

(A) 85 (B)17

©) 51 D)5

The average of five consecutive odd numbers is 61. What is the highest number?
(A) 65 (B)57

(©) 63 D) 67

Find the wrong number in following series.

12,17, 36,127, 516, .......
(A) 17 (B) 36
(C) 127 (D)516

If ROBUST is coded as QNATRS in a certain coded language, which word would be
coded as ZXCMP ?

(A) AWDLQ (B)AYDNQ
(C) AYBNO (D) YYBNO

In a row, Radha is seventh from left and Sita is forth from right. When Radha and Sita
exchange their positions Radha will be fifteenth from left. What will be Sita’s new
positions from right?

(A) Twelfth (B) fifteenth
(C) sixth (D) forth
QIOK : MMKO :: ZBPC: ?

(A) VFLK (B) VFLG
(C) WFLG (D) VGLG

If “tee see mee” means “Drink Fruit Juice” ; “see kee lee” means “Juice Is Sweet” and
“lee ree nee” means “He Is Intelligent”, then which word in that language means “Sweet” ?

(A) see (B) lee

(C) kee (D) mee
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AL

130. 25w 25 Bigaidl ud ds 90 Hl2 04 8, uhl d Wil gHell a8 adfl 20 Hlz: 4 9.

s34 d Wil Hell ds aul 30 {2 Wd 9. vid d, Wdill suel d:s aull 100 Hle: 14 9.
8d d A3vd-u [Bigdl 524 ¢ ucul 82l ?

(A) 80 Hle= (B) 100 {122
(C) 120 #leR (D) 200 Hle=
* Mgar: (usl 131 4l 135 W2 ) A wastimd 22 2iucumi i 69, [Fely 524 35 Al 2uua

25l WA s [Aseumi-l 2usld 2u0a 9 aol ais Aoiy A 2 d asd 52 8.

@@@‘@D

(B) © (D)
131, ), A, uRBa dlst (D)
132, 2, si8l, D (©)
133, MddRl, s, [@gail (A)
134.  uallail, asdll, Geal (B)

135. G WL, S0 An H2dd R, drdal  (A)

136.  lA- avein (A% YaR $H (Alphabetical order)Hi dllsddl $UL 068 A22AAA 2148 ?
Accurate, Absolute, Accent, Adjective, Adverb.
(A) Absolute (B) Adjective
(C) Adverb (D) Accurate
137. DA gl vedl ivan (?) sl
1, 2, 3, 10, (?), 9802
(A)999 (B)1999

© 9P (D) 199
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130.

131.

132.

133.

134.

135

136.

137.

A person starts from a point and walks 90 meters towards East, then he turns to his right
and walks 20 meters. Again he turns to his right and walks 30 meters. Finally, he turns to
his right again and walks 100 meters. How far is he now from starting point ?

(A) 80 meters (B) 100 meters

(C) 120 meters (D) 200 meters

Directions: ( Questions 131 —135) In the following questions three classes are given. Out
of four figures that indicated in options, find out the figure which best represents the
relationship among the three classes and mark appropriate option.

@@@‘@D

© D)

Mothers, Women, Married people (D)

Tea, Coffee, Beverages (@)
Athletes, Boys, Winners (A)
Birds, Sparrow, Mice (B)

Tall men, Black haired men, Indians (A)

Arranging the following words in Alphabetical order which word will be at exact middle.
Accurate, Absolute, Accent, Adjective, Adverb.

(A) Absolute (B) Adjective

(C) Adverb (D) Accurate

Find the missing number (?) in series below.

1, 2, 3, 10, (?), 9802

(A)999 (B)1999

© 92 (D) 199
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* Mg : (uai138 €l 140) : 835 UaUl 245 Uz 24, 61 [l (1) 2 (1) 20ucuHi e 69,
dHIR A 58l s & 5 [l 2uucuni 2udedl HIS L UsHiAL sl U uald 9, dHIRL
ogaior {12 Yoyt Ul

(A) A [Qurt (1) 2154, @l iual uaid 9.
(B) %A (At (IT) 154 ol 2uudl uaid 6.
(C) A [t () 2R (IT) 61l 218 1A Fuet i %350 6.

(D) %A [Qturl (1) 24 (1) 61 2i5 WA UL UL Bt Ul Yald <l

138. AR [P, Q, R, 241 S USL sial Aldll ay aoq 4ud € ? (C)
(1) Q ¥ P 5cll AY A% HRUA €9, URL'S 5cll 2189 A%~ 4RAd 8.

(I1) R 21 Q 5L ALY A%t HR1d €9

139, AHYR 1 [ArayR a2l agau vidR 24 O ? (D)
(M) AnyR gaiyel 10 [+ g2 ©.

(IT) goUYR [Aoruyzdl 22 (3l €2 8.

140. P 3 Q U oeH €y, dl Q -l P 20l sl ol 49l ? (A)
D QS -aus .

D) T3 Q -ulia .
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* Directions: (Question 138 — 140): Each questions has a problem and two statements (I)
and (II). You have to decide, if the information given in the statements is sufficient to
answer the question. Indicate your answer as

(A) If statement (I) alone is sufficient to answer the question.

(B) If statement (II) alone is sufficient to answer the question.

(C) If statements (I) and (II) both together are needed to answer the question.

(D) If statements (I) and (IT) both together are not sufficient to answer the question.

138.  Among four friends P, Q, R, and S whose weight is highest? (©)
(I) Q has higher weight than P, but he is lighter than S

(I) R is lighter than Q.

139.  What is the shortest distance between Rampur and Vijaypur? (D)

(I) Rampur is 10 km away from Durgapur.

(IT) Durgapur is 22 km away from Vijaypur.

140. P is sister of Q, than how is Q related to P ? (A)
(I) Q is brother of S.

(ID) T is father of Q.

ACT-01 - A ] 27 P.T.O.


Tejas Soni
Highlight

Tejas Soni
Highlight

Tejas Soni
Highlight


141.

142.

143.

144.

145.

Men : (uadl 141 ) 145) D=A-1 sivesHl 20011 3L UL UL AL

25 WHlens usui GuRad Ben v WA 2A AL EL EL AU el aui-u GHeRlH
vl

a 1997 1998 1999 2000 2001

AU Gu. I Gu. A Gu. A Gu. A Gu. WA
P 6400 780 | 8800 1020 | 7800 890 | 8750 1010 | 9750 1250
Q 8100 950 | 9500 1240 | 8700 980 | 9700 1200 | 8950 995
R 7800 870 | 7600 940 | 9800 1350 | 7600 945 | 7990 885
M 5200 720 | 8500 980 | 7400 850 | 6800 775 | 9500 1125
N 7500 840 | 9200 1050 | 8450 920 | 9200 980 | 8800 1020

Ay 1997Hi 618l AU FQ WA AU GHEARL, At 1998HL 618l AU A WA A GHEARL
AU 2R Seanes 8 ?

(A) 72.5% (B) 77.5%
(C) 79.5% (D) 83.5%

R

oL A%A)L WA, adl 99941 suL AUHT WA 2Ad GHgRI GulRad 8@ BHEARL wuel 251l
HeH 69 ?

(A)M (B)R
©P ™®Q

A% N Ui, dHIH ANl GuRad 8 e GHEARL AUEL dHIH ANIHE WA 23d GHegRIL 251Ul
Sedl €9 ?

(A) 10.11% (B) 10.75%

(C) 12.36% (D) 11.14%

2 QuiHL P ApuHidl GulRad 84 GHeaiRiHl a3 S2¢l Y9l ?
(A) 8300 (B) 8920

(©) 8990 (D) 8410

an1998 Hi P 21 Q AUHL AYsel Ad, WA 2ia GugauRl-l GuRad 8¢ GHgarl una
2519l 52l a3l ?

(A) 10.87% (B) 11.87%

(©) 12.35% (D) 13.35%
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141

142.

143.

144.

145.

Directions : (Questions 141 - 145) Study the following table and answer the following
questions.

Number of candidates appeared and qualified in a competitive examination from different
states over the years.

Year 1997 1998 1999 2000 2001
State | Appear | Qualified | Appear | Qualified | Appear | Qualified | Appear | Qualified | Appear | Qualified

6400 780 | 8800 1020 | 7800 890 | 8750 1010 | 9750 1250
8100 950 | 9500 1240 | 8700 980 | 9700 1200 | 8950 995
7800 870 | 7600 940 | 9800 1350 | 7600 945 | 7990 885
5200 720 | 8500 980 | 7400 850 | 6800 775 | 9500 1125
7500 840 | 9200 1050 | 8450 920 | 9200 980 | 8800 1020

Z 2RO~

Total number of candidates qualified in all the states together in 1997 is approximately
what percentage of total number of candidates qualified from all the states together in
1998 ?

(A) 72.5% B) 77.5%

(©) 79.5% (D) 83.5%

Among the five states which state has highest percentage of qualified candidates to
appeared candidates in 1999 ?

AM B)R
©)P D Q

What is the percentage of candidates qualified from state N for all the years together,
over the candidates appeared from N for all the years together ?

(A)10.11% (B) 10.75%

(C) 12.36% D) 11.14%

What is the average of candidates who appeared from state P during given years ?
(A) 8300 (B) 8920

(©) 8990 (D) 8410

Combining the states P and Q together in 1998, what is the percentage of the candidates
qualified to that of the candidates appeared ?

(A) 10.87% (B) 11. 87%

©) 12.35% (D) 13.35%

ACT-01 - A ] 29 P.T.O.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


146. P, Q,R, S, ¥ T Ui AsclAln 35 Alss [Ba ellaqarg €. duti-l sllaaiql $H 2UUE 54 Yartl
Sl d %33 el R 2 udell 5 ¢l asdl el S il Asded GILE AR ASAIAL bS8 € HA T UL
A5 USHL AR ASAUAL clsded AN YsAL 6. A P o dsded Q -l Asded ughlell gl dl el
asdl slaL el ?
(A)S ®B)P

©T DQ

147. 02 QA sul a0t 2=y woel 9l 516 Ad a2 us 9 ?

(A) wi[@Ram (B) Adlam
(©) [alRw D) vyFlun

148. 441:361::729:(?)
(A) 684 (B) 625

(©) 676 (D) 741

149. oA vl “2984907217 -l ISl BdRdl 1ML lsAUHE 2Ud dl 5241 st d-il {2 88 ?
(A)2 B)3

©4 D)6

150. i AislAs cwumi ik youaRl U4 sl 835 youar w2, B+l 2 [BHd (place value)
w[AcUA Aval Sl A T 518 AUNHT 2Ud ddl GUElAL HOURRIA 2 518 MMl el dl
“EXAMINATION” 216+l 13 2l 48l ?

(A) 12212222222 (B) 12112212222

(0) 21121122222 (D) 12222212222
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146 P,Q,R,S, and T are five speakers who have to speak on a particular day, not necessarily
in the same order. R is neither the first nor the last speaker. There are three speakers left
after speech of S and 3 speakers speak ahead of T. If P speaks after Q, who is the last

speaker?
(A)S (B)P
OT D Q

147.  Which of the following words is different from other 3 in same manner ?
(A) Potassium (B) Sodium

(O) Lithium (D) Aluminum

148. 441:361::729:(?)
(A) 684 (B) 625

(©) 676 (D) 741

149.  If the digits in the number “ 298490721” are arranged in descending order, how many
remains in same place ?

(A)2 B)3

© 4 D) 6

150. In a certain code language, each number in the English alphabet has prime number as
its place value is coded as 1 and the remaining letters are coded as 2, then what is the
code for the word “EXAMINATION”.

(A) 12212222222 (B) 12112212222

(0) 21121122222 (D) 12222212222
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